MTHI132 - Examples

2.6 Problems

Implicit differentiation

d
Example 1. Find d—y by implicit differentiation.
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Example 2. Consider the curve y? = 23 + 322 (I )

(a) Find an equation for the tangent line to this curve at the point (1, —2)
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(b) At what points does this curve have horizontal tangents?
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Example 3. Use implicit differentiation to find the equation of the tangent line to the curve at the given

point.

(a) sin(z +y) = 2z — 2y at the point (7, 7).
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(b) 2?4+ zy + y* = 3 at the point where x = 1 (Hint: there are two equations)
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Example 4. Find " if 2* + y* = 16

MSU 4









































	2.6 Problems
	Implicit differentiation


